87703

—— 87723

87713

10015
87721

87718

87692

87708
10174

87716

81058(4)

85264
07517

87681

87682

—— 87724

" Server Products, Inc.
%‘% J 3601 Pleasant Hill Road PO Box 98
= S E R V E R Richfield WI 53076 USA
Direct | 262.628.5600 Toll Free | 800.558.8722

www.server-products.com

Model Name

FAST-FILL
Model Number
87690
Dwg. Date
01/08/14

PART |QTY|DESCRIPTION

10015 1 [SCREW, 8-32 X 1/4, PHIL,TRUSS, SEMS
10174 1 |WASHER, #10, FLAT

81058 | 4 |FOOT, W/SCREW

87692 1 |SHROUD ASSEMBLY

87708 1 |LATCH

87713 1 |DOOR ASSSEMBLY

87716 1 |NUT, 10-32, NYLON INSERT

87718 1 |PIN, DETENT 1/4 W/ 1" DIA RING
87721 1 [LANYARD, 1/16 DIA, PVC COATED
87723 1 |LEVER & PLUNGER ASSEMBLY

10104 1 |NUT, 1/4-20, HEX CAP

87695 1 |PLUNGER ASSEMBLY

87703 1 |ROD, DRIVE

87717 1 |PIN, DETENT CLEVIS, 11/2

87725 1 |KIT, LEVER ASSEMBLY

87724 1 |VALVE ASSEMBLY

07517 1 |CAP, PLSTC, 38MM, 1.30 HOLE

85264 1 |CONNECTOR, ADAPTER, 16MM

87681 1 |BODY, VALVE

87682 1 |VALVE, SILICONE




